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==Maruti In the following line graph, the ratio of
expenditure to income of three car companies
_during six months is given.

==Hundai Note: 1. Income = Expenditure + Profit
0.75 2. Profit percentage is defined on the

expenditure unless and otherwise mentioned.
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==Maruti If the expenditure of all the car companies in
==Suzuki e month of May is equal; find the net

_profit/loss percentage of all the car companies
==Hundai j5gether.
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==Maruti The income of all the car companies in the
month of June is equal and the net profit all the
_car companies is ¥625 million; then find the
==Hundai gxnenditure of Maruti is how much more than
0.75 the expenditure of Hundai in the same month,.
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==Maruti The income of Maruti in the month of March is
equal to its expenditure in the month of April;
find the net profit/loss percentage of the
==Hundai com%any in the these two months.
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e=Suzuki
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==Maruti The expenditure and income of Suzuki both are

decreased by the same value from May to
June. If the profit of the company in the month

==Hundai of jyne is ¥ 42 million; find the income of the

company in the month of May.
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==Maruti If the expenditure of Hundai in all the given
months are equal; then find the net profli or loss

e=Suzuki
percentage of Hundai during these six months.
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